Audit Decision Cases  12-63

The following problems surfaced when the new payroll systern was placed in operation:

1. A worker received a direct deposit for $1,531.80 when it should have been $153.81. It was deter-
mined that the wage rate was overstated by 2 magnitude of 10 because it was entered incorrectly in
the payroHl system.

2. One worker complained that a direct deposit was not made to his account, and this error was not
detected., As it turned out, the payment was made to another individual because the wrong bank
account number was on file.

3. One worker received a paycheck for an amount considerably larger than she should have. Investi-
gation revealed that a worker was paid $21.75 per hour rather than $12.75 per hour because of an
input error when changing the employee’s wage rate on the master file.

4. In processing non-routine changes, an HR assistant included a pay rate increase for one of his
friends in the factory. This was discovered by chance when a foreman was reviewing charges to his
department.

*C1Z.4 (LD 13} Internal control evaluation—payroll Anclysis and evaluation:

Identify the control deficiencies in the payroll process for The Vane Corporation. Recommend the
changes necessary to improve the control structure. Arrange your answert in the following columnar

format:

Control Deficiencies z

Kecommendations

(ICMA)

Cicud 9 Ccntmumg Case

" and garlier chapters, You should also consider your answers to the

. r!sk for purchasa transactions and accoums payable

'Requli‘ed
tios for Cioud 9asof 1/31/2021 1/31/2022, and 10/31/2022:

© rather than average balance for accounts pay&ble)

2, Cost of gemis sold 1o a\rerage accounts payabEe
3, Payables asa % of total assets ' '
"4, Cutrent ratio. '

5. Any other ratios an& mformatmn Ehat you beheve wouid_
be. appropriate to evaluatmg inhérent risk for purchase
transact:ons and accounts  payable balances. -

b. Based on your analysss of information gathered

actions and accounts payabie _
2. Evaluate inherent risk for purchase transactlons and

payai)le

.ZAnswer the fﬁllo\mng questsons based on the mformanon for

' _' C. Analyze and draw conchsmns about the nature and extent _' )
~Cloud 9 presented. in the appendix to this text and the current- - :

case study guestions in earlier chapters The following mforma-_ c N
“tion focuses on evaluatmg inherent nsk control risk apd detection

& After rewewmg the tl‘i&l baiance, calculate the foliowmg ra-_ . :
. d. Analyze and draw cnnclusmns about the nature, mmmg, and '

1. Aecoums payable turhover in days (use ending balance _ '

1. Identify high inherent risk assertlons for purchases H’aHS* .

accounts payable. Expfam why you have identified var- .
lous assertions as h1gh or maximum risk fof accounts ’

“of tests of controls::

1. For each agsertion that yous 1cientify a8 h]gh or max:mum
inherent risk, identify an internal control, oracambmatmn
: of internal controls, that wauld control that nsk :

2 Explam the nature and extent of tests of commis you" :
“wouild need to perform to assess control risk as iow, for
_the controls you identified in (&)1.above. - : --

extent of substantive procedures

S N .Gaven your conclusions about mherent risk’ and assum—-
: mg that tests of controls show {hat.internal controls are .
-:effectwe, what afe your. conclusions about detection risk -

for the assertions ideniified as high or mammum mherent
: :3' r}sk‘? Explam your concluswns : i

2 For the assertmns you tdentsﬁed as h;gh or mammum in- -
-herent fisk, what is the substannve procedure you would
'_Suggest performmg (nature of the test)? Expiam your
conclusions. " L

3. Forthe assertlons you ;dennﬁed as hlgh or maximum mher
ent risk, when do you suggest performmg the substantive
: 'procedure (tlmmg of thé test)? Explam your conciusmns

' 4;-_For the assertions ycu Identlﬁed as high or maximum in-
herent risk; how extenswe?y shou 1d the auditor test these
aSSernons (extent of the test)’f Explam your conclusmns




